Math 171 - Quiz 9 Name \<e5
November 1, 2012

Score -

Show all work to receive full credit. Supply explanations when necessary.

1. (6 points) Let g(z) = z* + 22% — 362> + = — 7. Find open intervals on which the graph
of g is concave up/down. Also identify all points of inflection.
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2. (4 points) The table below gives the values of a function f and it first two derivatives
at selected values of x. Determine which row gives the data for f, which row gives the
data for f’, and which row gives the data for f”. Explain your reasoning.

| =z ]000]033]066[1.00] 133] 1.66] 200] 233] 2.66] 3.00]|
A(z) [[0.00[ 064 ]1.14 138 128| 084| 0.08]-0.89 | -1.91| 283
B(z) [|0.00[ 011041084 130| 166| 1.82] 169| 1.22] 042
C(z) [ 2.00 | 1.78 | 1.16 | 0.24 | —0.83 | —1.85 | —=2.65 | —3.07 | —3.00 | —2.40

A(ﬂ = g’(ﬁ) B(X) s \wcnusmc‘ WW®nE /'\(*3 \S ponvTive AND
B(x) = ‘?(X) be;f“*‘“& W GRE | A(x) \L NEGATIVE. e

. Hig ROV Vi T ()(3: X ).
qu - -F”(,Q | PRrRovVidEy EVIdweg THAT

S\M\\.‘\Q ANALYSIL Foe A(x) Avg C(x) 3“8‘353“
Tuar A = ¢,



